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Exam A

QUESTION 1
Given:

public class App |

puklic static void mainiStringl[] arg=) |

Boolean[] bool = new Boolean[Z]:

bool[0] = new Boolean(Boolean.parseBoolean("truse")) ;
bool[l] = new Boolean(null) ;
System.out.printlnibool[0] 4+ ™ " 4+ bool[l]);

}

What is the result?

A. True false

B. True null

C. Compilation fails

D. A NullPointerException is thrown at runtime

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
Given the code fragment:

1if (avar++ < 10)
Svstem.out.printlniavar + " Hello Worldl!l™);

Poelze |
Sv=tem.out.printlniavar +

Hello Universe!l ™) ;

H
What is the result if the integer aVar is 97

A. Hello World!

B. Hello Universe!
C. Hello World

D. Compilation fails.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:



QUESTION 3
Given:

clazss Product |
double price;

}

public class Test |

public wvoid updatePrice (Product product,

}

price = price * 2;
product.price = product.price + prics;

public static wvoid main(String[] args) {

}

Product prt = new Product ()
prt.price = 200;
double newPrice = 100;

Test £t = new TesSt ()
t.updatePrice (prt, newPrice);

Svetem.out.println(prt.price + " @ " 4+ newPrice);

What is the result?

A. 200.0:100.0
B. 400.0:200.0
C. 400.0:100.0
D. Compilation fails.

Correct Answer: B
Section: (none)

Explanation

double price)

Explanation/Reference:

QUESTION 4
Given the code fragment:

{



1. clags 3 {

i pubklic woid printFileContent ()
B /* code goez here */

q. throw new IOExcepticon();

Tk }

G. }

7. public class Test |

8. public static voild main(String[] args) |
9. ¥ oxob] = new X ()

10. #ob].printFileContent () ;

Tl 1

i

Which two maodifications should you make so that the code compiles successfully?

O &) Replace line 8 with public static void main(8tringl] args) throws Except

O B) Replace line 10 with;:
try |
#obj.printFileContent () ;
'
catch (Exception &) { }
catch (IOException &) { )

O C) Replace line 2 with public void printFileContent () throws ICOException |
O ) Replace line 4 with throw IOException ("Exception raised™);

O E) &t line 11, insert throw new IOException();

Option A
Option B
Option C
Option D
Option E

moows>

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 5
Given the code fragment:



public static void main(sStringl[] args) |
String date = LogalDate
.parse ("2014-05-04")
.format(DateTimeFormatter.ISO_DATE_TIME);
Syvetem.out. println (date) ;
I

What is the result?

A. May 04, 2014T00:00:00.000

B. 2014-05-04T00:00: 00. 000

C. 5/4/14T00:00:00.000

D. An exception is thrown at runtime.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://docs.oracle.com/javase/8/docs/api/java/time/format/DateTimeFormatter.html (see
predefined formatters)

QUESTION 6
Given the code fragment:

public static vold main(String[] args) |
StringBuilder =b = new StringBuilder(5);
String = = "";

if (gbh.equals(=)) |
Svstem.out.println{"Match 1");

t else if (sh.tofString().equals(s.toString()l) |
System.out.println{"Match 273 ;

Poelze |
Syvstem.out.println{"No Match");

}

What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:



QUESTION 7
Given the following two classes:

public class Customer |
ElectricAccount acct = new ElectricAccount () ;

public void useElectricity (double kWh){
acct.addEWh (kWwh) ;

public class ElectricAccount |
private double kilh;
private deouble rate = 0.07;
private double kill;

filine nl

How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always
equal to the value of the member variable kwh multiplied by the member variable rate?

Any amount of electricity used by a customer (represented by an instance of the customer class) must
contribute to the customer's bill (represented by the member variable bill) through the method useElectricity
method. An instance of the customer class should never be able to tamper with or decrease the value of the
member variable bill.



C &) public veid addEWh(double kWh) |
thi=z.kiWh += kWh;
thi=z.b11ll = thiszs.kWh*this. rate;
'

~ B) public veid addiEWh (double kWh) |
if (kWwh > 04
this.kWh += kWh;
thiz.kill = thiz.klWh * this.rate;

H

™ C) private woid addEWh (double kWh) |
if (kWh > 0} {
this.kWh += kih;
thi=.k11ll = thi=z.kWh*thi=z.rate;

H

« ) public veoid addEWh(double kWh) |
1if (kWwh > 0) ¢
this.kiWh += kih;
getBill (this. kWwh) ;
i
i
puklic woid setBill (double kWh) |
bill = kWh*rate;

A. Option A

B. Option B

C. Option C

D. Option D
Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 8
Given:



public static veold main(Stringl[]

String ta = "A ";
ta = ta.concat ("B "):
String th = "C ";

ta = ta.concat (th);

Ta, peplace ™™, “TBYG
ta = ta.concat (th):
System.out.println{ta);

h
What is the result?

ABCD
ACD
ABCC
ABD
ABDC

moow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
Given:

interface Readable |
public void readBook () ;
public void setBookMark () ;

}

abstract class Book implements Readabkle |

public void readBook () { 1}
f4 line nZ

}

class EBook extends Boolk |
pukblic wvoid readBook () { }
/4 line nd

Which option enables the code to compile?

args)

{

Jf line nl

7/ line n3



« &) Replace the code fragment at 1ine nl with:
class Book implements Readable |

]

B} At 1ine nZ2 insert:
public abstract woid setBookMark () ;

) Replace the code fragment at 1ine n3 with:
abstract class EBook extends Book |

D) At 1ine n4 insert:
public void setBookMark () { }

Option A
Option B
Option C
Option D

Cow>

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 10
Given the code fragment:

int ALl = e 24 3e 4, 5}
for (M) |

System.out.print (ale]);
¥

Which option can replace xxx to enable the code to print 135?

A. inte=0;e<=4;et++
B. inte=0;e<5;e+=2
C.inte=1,e<=5;e+=1
D. inte=1;,e<5;e+=2
Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
Given:



class CDO
int: £
Chiint r)d
thisg. r=r;

}

class DWVD sextends CD {

dimdeae
DVD(int r, 1int <) |
4 line nl

1
1
And given the code fragment:

DWVD dvd = new DWVD{10,20);

Which code fragment should you use at line n1 to instantiate the dvd object successfully?

g
thiz.c = o

 B) superir);
this (=) ;

O SnpeEir
thig:e =.e;

C Dithis.e = 6
super (o) ;

A. Option A

B. Option B

C. OptionC

D. Option D
Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
Given the code fragment from three files:



SalesMan. java:

package =sales;
public class SalesMan | @

Product.java;

package sales.products;
puklic class Product {3

Market. java:

. package market;
. // insert code here

SalesMan =m;
Product pi

1
e
3. public class USMarket |
4
5
=]

Which code fragment, when inserted at line 2, enables the code to compile?

&) import
~ B) import

™ C) import
import

) import
import

« E) import
import

Option A
Option B
Option C
Option D
Option E

moow>

Correct Answer: E
Section: (none)
Explanation

gales.*;
Java.szales. products. *;

sales;
sales. products;

gales.*;
products. *;

gales.*;
gales. products. *;

Explanation/Reference:

QUESTION 13

Which statement best describes encapsulation?



A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object
are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.
C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any
subclass of MyType can be passed to that method.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 14
Given the code fragment:

String shirts[][] = new Stringl[2][2]:

shirt=s[0][0] = "red"™;
shirt=s[0][1] = "klus";
shirt=[1][0] = "=zmall";
shirt=s[1]1[1] = "medium";

Which code fragment prints red: blue: small: medium?



¢ &) for (int index = 1; index < 2; indent+) |
for {(int idmx = 1; idx < 2; idzx++) |
Syvstem.out.print (shirts[index] [1dx] + ":");

“ B) for (int index = 0; index < 2; ++index) |
for (int idx = 0; 1dx < index; ++idx) |
Svetem. out.print (shirts[index] [idx] + ":"):

0 For IStving &5 colors) ¢
for (2tring = @ =izes) |
Svztem.out.printlnis + ":");

}

C B for [int indes = D4 indesx £ i) |
for (int id=z = 0; 1idx < 2Z;) |
Svstem.out.print (shirts[index] [idx=] + ": ") ;
idxt+;
i

index++;

Option A
Option B
Option C
Option D

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 15
Given the following class:



pubklic class CheckinghAccount |
puklic int amount;
puklic CheckinglAccount (int amount)
this.amount = amount;

1

pukblic int getAmount () {
return amount;

'

puklic woild changedmount (int ) {
amount += ;

1

i

And given the following main method, located in another class:

public static void main(Stringl[] args) |

CheckinghAccount acct = new CheckingaAccount ( {int) (Math. random () *1000)
flene nl

Byvstem.out.println(acot. getimount (1) ;
I

Which three lines, when inserted independently at line n1, cause the program to print a o balance?

this.amount = 0;
amount = 0;
acct (0) ;

acct.amount = 0;

acct. getAmount () = 0;
acct.changeAmount(0);
acct.changeAmount(-acct.amount);
acct.changeAmount(-acct.getAmount());

IOTMOOW®>

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 16
Given the code fragment:



3. public static void main(S8tringl[] args) |
4, int x = 5;

i while (igAvallable(xz)) |

G. Svstem.out.print (x) ;

i

a. !

9, 1

10.

11. public static boolean isAvailable (int x) |
12 return x—— > 0 7?7 truse : false;

LR &

Which modification enables the code to print 543217

A. Replace line 6 with System, out. print (--x) ;

B. Atline 1, insert x --;

C. Replace line 6 with --x; and, at line 7, insert system, out. print (x);
D. Replace line 12 With return (x > 0) ? false: true;

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 17
Given the code fragment:

puklic class Test{

vold readCard(int cardMe) throws Exception |
Gystem.out.println("Reading Card™);
'

vold checkCard({int cardNe) throws RuntimeException { ¢/ line nl
System.out.println("Checking Card™) :
1

puklic static wveoild main(Stringl[] args) |

Test ex = new Test();

int cardMe = 12344;

ex.checkCard (cardNo) ; filine nZ
ax. readCard (cardie) ; filine n3

'
What is the result?

A. Reading Card
Checking Card



Compilation fails only at line n1.
Compilation fails only at line n2.
Compilation fails only at line n3.
Compilation fails at both line n2 and line n3.

moow

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 18
Given the following main method:

puklic static wvoild main(Stringl[] args) |

int num = 5;
Ao o

Syvstem.out.print (num—— 4" ");
I while (num == 0} ;

}

What is the result?

543210
54321

421

5

Nothing is printed

moow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 19
Given the code fragment:

4. public static void main(8tring[] args)
B boolean opt = true:

a. switch (opt) |

7 case trues:

8. gvetem.out. print ("Trus") ;
0. break:
10. default:
i 5 Swvstem.out.print ("FF*")
12 !
g Syvstem.out.println("Done™) ;

T4, }



Which modification enables the code fragment to print TrueDone?

A. Replace line 5 With String result = "true";
Replace line 7 with case "true":

B. Replace line 5 with boolean opt = |;
Replace line 7 with case 1=

C. Atline 9, remove the break statement.
D. Remove the default section.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 20
Given:

puklic class Test |
pubklic static void main(8tringl[] args) |

gtring[][] chs = new String[2][]:
chs[0] = new Stringl[2];

che[1] = new String[5]:

int 1 = 97;

for {(int a = 0; a < chs.length; a++) |
for (int b = 0; b < che.length;: b++)
ch=la]l [k] = "" 4+ 1;
e

H

for (8tring[] ca : chs) |
for (String c : ca) |
Syetem.out.printic + " ") ;

H
System.out.println();

H

What is the result?

A. 9198
99 100 null null null

B. 9198
99 100 101 102 103

C. Compilation rails.
D. A NullPointerException is thrown at runtime.

{



E. An ArraylndexOutOfBoundsException is thrown at runtime.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 21
Given the code fragment:

int
int
int
int
int

= 100;
el 24y e i
++37
= Ht+:
fa < k) 2 (a < <) 2 a: (b <c 17 b

oL0 T oW
I

System.out.println(d);

What is the result?

100
101
102
103

moowp

Compilation fails

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 22
Given the code fragment:

public static vold main(Stringl[] args) |

}

List<String> names = new ArrayList<>();
names.add {"Eobk™) ;

names.add {"Bran™) ;

names . add ("Rick"™) ;

names.add ("Bran"™)

f

it (names=.remove ("Bran"i) |
names. remove ("Jon™) ;

}

Syvstem.out. printlninames) ;

What is the result?

i



A. [Robb, Rick, Bran]

B. [Robb, Rick]

C. [Robb, Bran, Rick, Bran]

D. An exception is thrown at runtime.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 23
Given the code fragment:

public class Emplovee |
String name;
boolean contract;
double =zalary:
Employes (1
/4 line nl
1
puklic String toString ()
return name + ":" + contract +

+ =zalary;

}

puklic static wvoild main(Stringl[] args) |
Emplovese & = new Emplovee ()
/7 line n?Z
System.out.print (e);

}

Which two modifications, when made independently, enable the code to print joe:true: 100.0?



O &) Replace 1ine n2 with:
e, hname = "Joe™;
e, contract = true;
e,.zalary = 100;

O B) Replace 1ine n2 with;
thiz.name = "Joe";
this.contract = true;
thizg.=zalary = 100;

[l C) Replace 1ine nl with:
thiz.name = new String("Joe™);
this.contract = new EBoolean(true) ;
thiz.galary = new Doukle (1007 ;

O D) Replace 1ine nil with:
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
this ("Joe", true, 1000 ;

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E
Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
Given:



class X |
static int 1i;
int o ;

public static veold main(Stringl[]
rew X () ;
= new i)

® xl =
¥ ox2
#l.1 =
#l.] =
e
R

eystem.
s,
g
He .
st

What is the result?

A
B. 3436
C

D. 3646

3456

5456

Correct Answer: C
Section: (none)

Explanation

Explanation/Reference:

QUESTION 25
Given:

3
4;
i
=%

out
i+
q +
i+
3%

.println

+
+
+

args)

{



class & 1
puklic A()
Svstem.out.print ("A ")
'
'

class B extends A
public B} { fdline nl
gyvetem.out. print ("B ") ;
'
B

class C extends B/

publie S filine nZ
System.out. print ("C ") ;
'
puklic static volid main(Stringl[] args) |
Coc o= new C0);
h
'

What is the result?

A. CBA
B. C

C. ABC
D. Compilation fails at line n1 and line n2

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 26
Given the code fragment:

public static velid main(Stringl[] args) |
Stringl] aer = A, "B ey "Dk
Eor fant. 3 = 0 4. £ are.lE8ngth: 24F4%) f
Svstem.out.print (arr[i] + " ");
if farr[i].equals("C")) {
continues;
I
Svstem.cut.println("Work done™);
break;



What is the result?

A. AB C Work done
B. AB C D Work done
C. AWork done

D. Compilation fails

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 27
Given the code fragment:

. public ¢lass Test |
puklic static wvoid main(Stringl[] args) |
/* insert code here */
array[0]=10;
array[1l]=20;
Svstem.out.print (array[0]+": "+array([1]);

oo -1 0y 0 ode Ld DBd

——

Which code fragment, when inserted at line 3, enables the code to print 10:207?

A. int[] array n= new int[2];
B. int[] array;

array = int[2];
C. intarray = new int[2];
D. intarray [2] ;

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 28
Given the code from the Greeting.Java file:

puklic class Greeting |
public static void main (String[] args) |
Syetem.out. println("Helle " 4+ args[0]);:
1
'

Which set of commands prints Hello Duke in the console?



O A) jJavac Greeting
Java Greeting Duke

© B) javac Greeting. java Duke
java Greeting

 C) javac Greeting. java
Java Greeting Duke

 [) javac Greeting. java
jJava Greeting.class Duke

A. Option A
B. Option B
C. OptionC
D. Option D

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 29
Which three are advantages of the Java exception mechanism?

A. Improves the program structure because the error handling code is separated from the normal program
function

Provides a set of standard exceptions that covers all the possible errors

Improves the program structure because the programmer can choose where to handle exceptions
Improves the program structure because exceptions must be handled in the method in which they occurred
Allows the creation of new exceptions that are tailored to the particular program being created

moow

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Reference: http://javajee.com/introduction-to-exceptions-in-java

QUESTION 30
Given the code fragment:

puklic static volid main(Stringl[] args) |
int i1 = 0O;
int g3 =73
for (ii = 0; ii < J3 = 1; ii = ii + 2} {
System.out.print{(ii + " ");



What is the result?

A 24
B. 0246

C. 024

D. Compilation fails

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 31
Given:

class Alpha |
int ns:
static 1Int s;
Alpha(int ns) |
i1t (=2 < n=) |
3= ns;
this.ns = ns;
'

'
vold doPrint () |

Svstem.out.println{"ns

H
H

And,

public class Testh |

+ n=s +

puklic ztatic voild main(Stringl[] args)

Alpha refl
Alpha refZ

new Alpha (50} ;
new Alpha (125] ;

Alpha ref3 = new Alpha (100} ;

refl. doPrint () ;
ref2.doPrint () ;
ref3.doPrint () ;

H

What is the result?

{

=]

e



C &) ne = 50 5= 195
ns = 125 = = 125
ns = 100 = 125

O B i = 50 g0 125
ng = 125 = = 125
nsg = 0 g = 125

~ C) ns = 50 s = 50
ns = 125 = = 125

nz = 100 = = 100
' P)ns =50 g = 50
ns = 125 5 = 125
ng = 0 g = 125
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 32
Given the code fragment:

7. StringBuilder sbl = new StringBuilder ("Dukes");
8. String strl = sbl.toString();
9, J/ insert code here

10. System.out.print (strl == =str2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = str1;

B. String str2 = new String (str1);
C. String str2 = sb1. toString ();
D. String str2 = "Duke";

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 33



Given the code fragment:

LocalDate datel = LocalDate.nowl() ;
LocalDate dateZ LocalDate.of (2014, 6, Z20);
LocalDate date3 = LocalDate.parse ("2014-06-20", DateTimeFormatter.IsS0 DAT

Byvstem.out.println("datel = " 4+ datel);
Svstem.out.printlni{"date? = " + dateZ);
System.out.println("dateld = " 4+ date3):

Assume that the system date is June 20, 2014. What is the result?

&) datel = 2014-06-20
date2 = 2014-06-20
dated = 2014-06-20

© B) datel = 06/20/2014
dateZ = 2014-06-20
date3d = Jun 20, 2014

) Compilation fails.

« [) A DateParseExcpetion IS thrown at runtime.
Option A

Option B

Option C
Option D

Cow>»

Correct Answer: D
Section: (none)
Explanation
Explanation/Reference:

QUESTION 34
Given the code fragment:

public static vold main (Stringl[] args) |

double discount = 0;
int gty = Integer.parzelnt (args[0]);
//line nl;

And given the requirements:
If the value of the qty variable is greater than or equal to 90, discount = 0.5
If the value of the qty variable is between 80 and 90, discount = 0.2
Which two code fragments can be independently placed at line n1 to meet the requirements?



[l if

O B) digcount
di=count

O C) discount

OB} iF

(gtv > 80 &&

(qty >= 90)
(gt = 80)

(qty »>= 30}

digcount = 0.2;

P elzse |

discount

}

0;

1f (gty >= 90) {
digcount = 0.5;

Poelze |

discount = 0;

}

O E) discount

A. Option A
B. Option B
C. OptionC
D. Option D
E. Option E

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 35

Given the code fragment:

(qty > B0)

7

2

?

2

{gty »= 90) { discount

if (gty > BO && gty < 90)

gty < 90)

{

0.
a.

=

a.

a.

i

=

5

5

o

0.5; 1}
dizgcount = 0.

0:

gty > 80y 0.2

(qty >= 90)

2

i

}

a.

5]

o;



pukblic class Test |

}

static int count = 0;
int 1 = 0;

public wvoid changseCount ()
while (1 < &)
i++4;
count++;

}

public static veoild main(Stringl[] args)
Test checkl = new Test () ;
Tezt check?Z = new Test () ;
checkl. changeCount () ;
checkZ. changeCount () ;
Syvetem.ouk. print (checkl. count +

What is the result?

A. 10:10

B. 5:5

C. 5:10

D. Compilation fails

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 36
Which three statements describe the object-oriented features of the Java language?

A

mmoow

Objects cannot be reused.

A subclass can inherit from a superclass.
Objects can share behaviors with other objects.
A package must contain more than one class.
Object is the root class of all other objects.

A main method must be declared in every class.

Correct Answer: BCF
Section: (none)
Explanation

Explanation/Reference:

{

+ checkZ.count) ;



QUESTION 37
Given:

public class Test |

public static void main{String[] args) |
if (args[0].equals({"Helloe™) 2 false : trues) |
gyestem.cut.println("Success™) ;
Doelse |
Syvstem.out.printlni{"Failure");

}

And given the commands:

javac Test.Java
Java Test Hello

What is the result?

A. Success

B. Failure

C. Compilation fails.

D. An exception is thrown at runtime

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 38
You are developing a banking module. You have developed a class named ccMask that has a maskcc method.

Given the code fragment:

class CCMask |
public static String maskCC(String creditCard) |
String ® = "KEKK-KEHH-XHKX-";
//line nl
I

public static veoid main(Stringl[] args) |
Svetem.out. println (maskCC ("1234-5A78-9101-1121")1;
I
|

You must ensure that the maskcc method returns a string that hides all digits of the credit card number except
the four last digits (and the hyphens that separate each group of four digits).

Which two code fragments should you use at line n1, independently, to achieve this requirement?



[0 A) stringBuilder =b = new StringBuilder (creditcard);
sb.zsubstring (15, 1%);
return # + sh;

[0 B) return z + creditcCard.substring (15, 19);

O C) stringBuilder sb = new StringBuilder (x):
gb.append (creditcCard, 15, 19);
return skb.toString();

O D) stringBuilder sb = new StringBuilder (creditcCard);
StringBuilder = = sb.insert (0, x):
return s.toeString() ;

Option A
Option B
Option C
Option D

Cow>

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 39
Given the following code:

puklic static wvoid main(Stringl[] args){
gtring[] planets = {"Mercury"”, "venus", "Earth", "Marz"};

Svstem.out.println(planets. length) ;
System.out.println(planet=s[1].length ()} ;

What is the output?

mmoow>»
NN IO RN

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:



QUESTION 40
Given:

Base.java:

clas= Base !
puklic woid test ()
Syvstem.out.println{"Base ") ;
i
I

Deriveda. java:

class Derivedh extends Base |
puklic woid test ()|
Svstem.out.println{"Deriveda ") ;
i
'

DerivedB. java:

class DerivedE extends Derivedd
pukblic woid test ()
Svstem.out.println{"DerivedE ") ;
'

puklic static vold main(Stringl[] args)

Basze bl = new DerivedE () ;
Base b2 = new DerivedAl);
Baze b3 = new DerivedE ()
Bl = (Baze) b3;

Base bd = (DerivedA) b3;

Bl.test () ;
bBd.te=t () ;

What is the result?

A. Base
DerivedA

B. Base
DerivedB

C. DerivedB
DerivedB

D. DerivedB
DerivedA

E. A classcast Except ion is thrown at runtime.

Correct Answer: C



Section: (none)
Explanation

Explanation/Reference:

QUESTION 41
Given:

package pl;

public class Acc |
V1 £ B 0
private int q;:
protected int r;
public int =

i
Test. java:

package pZ;
import pl. Acc;
pukblic class Test extends Acc
pukblic static void main(Stringl[] args)
Acc ob] = new Test ()
i
i

Which statement is true?

A. Both p and s are accessible by obj.
B. Only s is accessible by obj.

C. Bothrand s are accessible by ob;.
D. p, r, and s are accessible by obj.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 42
Given:

Sygtem.out.printlni”™s + 2 = "™ 4+ 3 + 4);
System.out.printlni("s + 2 "+ (3 4+ 43

What is the result?



AT B 3 P =93
5 + 2 = 34
T B)5 + 2 + 3 + 4
5 o+ 2=
CE1L7E =7
7+ 7

~ D)5 + 2 = 34
5 4+ 2 =7

Option A
Option B
Option C
Option D

Cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 43
Given the code fragment:

publie static vwoid main(Straing[] args) |
ArrayList myList = naw ArrvayList():
String[] myArray:
try |
while (true) |
myList.add ("My String™):
}

'
catch (RuntimeException ra) |

Syatem. out.printlin (“Caught a RuntimsException®) :
}
catch (Exception =] 4

gygtem. out. println ("Caught an Exception™);

!
Bystem.out.println("Ready to use”) ;

What is the result?

Execution terminates in the first catch statement, and caught a RuntimeException is printed to the console.
Execution terminates In the second catch statement, and caught an Exception is printed to the console.

A runtime error is thrown in the thread "main".

Execution completes normally, and Ready to use is printed to the console.

The code fails to compile because a throws keyword is required.

moowp

Correct Answer: C



Section: (none)
Explanation

Explanation/Reference:

QUESTION 44
Given the code fragment:

pukblic static voild main(Stringl[] args) |
String[] [] arr = {{ffAffF fFEffF ffcff}; {
for (int i = 0; i < arr.length; i++)
for (int J = 0; j < arr[i].length:; J++) |

"D"F "E"}};
{

Svstem.out.print {arr[i1][3] + " ");
it {arr[i][]].equals("B")) |
brealk;

}
}

contilnue;

}

What is the result?

A. ABC

B. ABCDE

C. ABDE

D. Compilation fails.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 45
Given the code fragments:



Ferson. java:

puklic clasz Person
String name;
int age;

puklic Person(3tring n, int a) {
name = n;
age = a;

}

public String getName () |
refturn name;

}

puklic int getage () A
return age;
i
1

Test.java:

puklic static void checkdge (Lizt<Person> list, Predicate<Person> predicat
for (Person p : list) |
if (predicate.test (p)) |
Svatem.out. println(p.name + " ");

}

puklic static vold maini(Stringl[] args) |
List<Person> 1List = Arravys.asList (new Person("Hank", 45,
new Person("Charlie™, 407,

new Person("Smith™, 38));:
//line nl

1
Which code fragment, when inserted at line n1, enables the code to print Hank?

A. checkAge (iList, () -> p. get Age () > 40);

B. checkAge(iList, Person p -> p.getAge( ) > 40);

C. checkAge (iList, p -> p.getAge () > 40);

D. checkAge(iList, (Person p) -> { p.getAge() > 40; });
Correct Answer: C

Section: (none)

Explanation

Explanation/Reference:



QUESTION 46
Given the code fragment:

puklic class App |

}

public static veolid main(Stringl[] args) |
String strl = "Java";
8tring str2 = new Stringi("java"):
f/1line nl

{

Svstem.out.println("Equal™);

} else

Svstem.out.println{"Not Equal™);

Which code fragment, when inserted at line n1, enables the App class to print Equal?

Cow>»

C &) string str3 = str2;

if (=ztrl == str3)
" B) if (strl.sequalsIgnoreCase (str2))
© E)iatring sEr3 =iEred;
if (strl.equals(str3i))
L D) 1t (ztrl.tolowerCase {1 == gtrZ.tolowerCase ()]
Option A
Option B
Option C
Option D

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 47
Given the code fragment:

puklic static void main(Stringl]

String str = H
str.trim();
Syvstem.out.printlniztr.equals ("")

args) |

+ " " + str.isEmpty ());



What is the result?

A. true true

B. ftrue false
C. false false
D. false true

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 48
Given the code fragment:

String[] strs = new Stringl[2]:;

int idx = 0;

for (String = : strs) |
stra[i1dx].concat |
idxt+:;

element "™ + 1dx);

i

for (idx = 0; idx < strs.length; idxt++) |
Svstem.out.printlnistrs[idx=x]);

'

What is the result?

A. Element 0
Element 1

B. Null element 0
Null element 1

C. Null
Null

D. A NullPointerException is thrown at runtime.
Correct Answer: D

Section: (none)

Explanation

Explanation/Reference:

QUESTION 49
Given:



puklic class SumTest |

public static wveoid delSum (Integer =, Integer vl |
System.out.println("Integer sum iz " + (2 4+ ¥)):

}

public static wveid deofum(doubkle x, doubkle vl |
System.out.println("double sum iz " + (x + v)):

}

public ztatic void deSum (fleoat x, float vy) |
System.out.println("float zum is " + (=2 + v)):

}

public static veid delBum(int 2, int ¥) |
System.out.println{"int sum iz " 4+ (x 4+ ¥));

}

pukblic static veild main(Stringl[] args) |
doSum (10, 20);
doSum{10.0, 20.0);

What is the result?

O OA) int sum is 30
float sum 1=z 30.0

« B) int sum is 30
double zum 1=z 30

C C) Integer sum is 30
double sum iz 30.0

D) Integer sum i=s 30
float sum iz 30.0

A. Option A

B. Option B

C. Option C

D. Option D
Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:



QUESTION 50
Given the definitions of the MyString class and the Test class:

MyString. java:

package pl:
class MyString |
String msdg;
MyString (String mesg) |
thiz.msg = wm=qg:
i
'

Test. java:

package pl:
public class Test |
puklic ztatic veid main(Stringl[] args) |
Syvstem.out.println("Hellec " 4 new StringBuilder("Java 2E 8"));
Svstem.ocut.println("Hello " 4 new MyString("Java SE 8"));

}

What is the result?
" &) Hello Java SE B
Helle Jawva SE B

« B) Hello java.lang.sStringBuilder@<<hashcodel>>
Helle pl.MyString@<<hashcodel>>

¢ ) Helle Java SE B
Helle pl.MyString@<<hashoodex>

) Compilation fails at the re=st class.

A. Option A

B. Option B

C. Option C

D. Option D
Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 51



Given:

class Vehicle |
int x;
Vehicle ()
this(l0}s ¢ lane-l
i
Vehicle{int =)
thiz.x = 3
i

}

class Car extends Wehicle
int v;
Cari() 1
super () ;
ERIs {2035 /4 line nZ
i
Car {int ¥) {
thiz.yv = ¥:
1
public String teoeSdring() |
return super.x + ":" + this.vy;
i
i

And given the code fragment:
And given the code fragment:

Wehicle v = new Car();
Svstem.out.printlniy);

What is the result?

A. 10:20
B. 0:20
C. Compilation fails at line n1
D. Compilation fails at line n2

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 52
Given:



MainTest. java:

puklic class MainTest |

H

pubklic =ztatic wvoid maini{int[] args=s) |
Syvstem.out.println("int main " + args[0]):

i

puklic static voild main(Okject[] args) |
gyvstem.out. println("Okject main " 4+ args[0]):

'

puklic static void main(Stringl[] args) |
Svstem.out.println{"String main " + args[0]);

H

and commands:

javac MainTest. java
Java MainTest 1 2 3

What is the result?

moow>»

int main 1

Object main 1

String main 1

Compilation fails

An exception is thrown at runtime

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 53
Given the code fragment:

W00 -] oy 0ol L

i
T,
I3,

. public static woid main(Stringl[] args) |

int 1vVar = 100;

float fVar = 100.100f;
doukle dVar = 123;
ivVar = fvar;

fwar = 1ivar;

dvar = fvar;

ftWar = dvar;

dWar = 1Var;

1WVar = dvar;



Which three lines fail to compile?

Line 7
Line 8
Line 9
Line 10
Line 11
Line 12

mmoow>»

Correct Answer: ADF
Section: (none)
Explanation

Explanation/Reference:

QUESTION 54
Given the code fragment:

public class Person
String name;
int age = 25;

public Person(String name) |
thi= () filine nl
setMName (names) ;

}

puklic Person(String name, int age) |
Person (nams) ; /fline nZ
setAge (age) ;

i

{fzetter and getter methods go here

public String show() |
return name + " "

+ age + + number ;

i

public static void main{String[] args) |
Person pl = new Person("Jesse™) ;
Paerzon pZ = new Person("Walter™,52);
Syvstem.ocut.printlnipl.show() ) ;
Syvstem.out.println{pZ.show() ) ;

!
What is the result?
A. Jesse 25

Walter 52
B. Compilation fails only at line n1



C. Compilation fails only at line n2
D. Compilation fails at both line n1 and line n2

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 55
Given the code fragment:

int nun[][] = new int[1][3];
for (int 1 = 0; 1 < num.length; 1+4+) |

for (int j = 0; j < num[i].length; j++) |
num[i] [7] = 10;

}

Which option represents the state of the num array after successful completion of the outer loop?

C &) num[0] [0]=10
num [0] [1]1=10
num [0] [2]=10

“ B) num[0] [0]=10
num[1] [0]=10
num [2] [0]=10

© C) num[0] [0]

S
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A. Option A
B. Option B
C. OptionC
D. Option D

Correct Answer: A
Section: (none)



Explanation

Explanation/Reference:

QUESTION 56
Given the following array:

int[] intArr = {8, 16, 32, a4, 1281:;

Which two code fragments, independently, print each element in this array?

O &) Tor: {intd = AntAre) |
System.out.print (intArr[i] +" ");
}

T B o a4 ¢ Jhtked)
Svstem.out.print (i +" "i;
i

[0 C¥for @Eie I=0 ¢ Intarey o
System.out.print (intArr[i] +" "):
1++;

OO for (int i=0; 1 < intArr.length; i++) ¢
Gyvstem.cocut.print (i +" ")

0 E) for (int 1i=0; 1 < intArr.length; 1++) |
Syvetem.out. print (intArr[i] +" "):

O F) for {(int i; i < intArr.length; i++)
System.out.print (intArr[i] +" ");

Option A
Option B
Option C
Option D
Option E
Option F

mmoow>»

Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:



QUESTION 57
Given the following code for a Planet object:

puklic class Planet |
pubklic String name;
puklic int moons;

puklic Planet (String name, 1nt moons)
thiz.name = name;
thiz.moons = moohns;

i
And the following main method:

public static veoid main(String[] args){
Planet[] plansets = |
new Blanet ("Mercury", 0),
new Planet ("WVenus", 0},
new Planet ("Earth"™, 1),
new Planet ("Mars", 2Z)

P

Svstem.out.println(planets) ;
gvstem.out.println(planets[2]);
Syvstem.out.println(planets[2] .moons) ;

H

What is the output?

{



© A) planets
Earth
1

© B) [LPlanets.Planet;@15db53742
Earth
1

" ) [LPlanets.Planet;@15db3742
Planets. Planet@adlsdadc
1

D) [LPlanets. Planet;@15db9742
Flanets. Planet@adiladalc
[LPlanets.Moon; @7852e922

 E) [LPlanets.Planet;@15db9742
Yenus
0

Option A
Option B
Option C
Option D
Option E

moowp

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 58
Given the code fragment:
int[] array ={l, 2, 3, 4, 5};

And given the requirements:

1. Process all the elements of the array in the order of entry.

2. Process all the elements of the array in the reverse order of entry.
3. Process alternating elements of the array in the order of entry.

Which two statements are true?

Requirements 1, 2, and 3 can be implemented by using the enhanced for loop.

Requirements 1, 2, and 3 can be implemented by using the standard for loop.

Requirements 2 and 3 CANNOT be implemented by using the standard for loop.

Requirement 1 can be implemented by using the enhanced for loop.

Requirement 3 CANNOT be implemented by using either the enhanced for loop or the standard for loop.

moowp

Correct Answer: DE



Section: (none)
Explanation

Explanation/Reference:

QUESTION 59
Given the content of three files:

& java.

pukblic class A |
public void ai) {1}
int a;

1
B.java:

puklic claszs B |
private int dol3tuff i) |
private int = = 100;
return x++;

}
C.java.

import java.io.®;
package pl;
class A
pubklic woid main(String fileName)

}

Which statement is true?

Which statement is true?

Only the A.Java file compiles successfully.
Only the B.java file compiles successfully.
Only the C.java file compiles successfully.
The A.Java and B.java files compile successfully.
The B.java and C.java files compile successfully.
The A.Java and C.java files compile successfully.

mmoow>»

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 60

throws ICException |

H



Given the following class declarations:
public abstract class Animal
public interface Hunter

* public class Cat extends Animal implements Hunter
public class Tiger extends Cat

Which answer fails to compile?

&) ArrayList<Animal>» myList = new ArrayvList<>();
myList. add (new Tiger());

%

© B) ArrayList<Hunter>» myList = new ArrayList<>();:
myList.add (new Cat());

© C) ArrayList<Hunter> myList = new ArrayvList<>();
myList.add (new Tiger());

D) Arraylist<Tiger> mylList = new ArravList<>();
myList.add (new Cat ()] ;

B

E) ArrayList<Animal>» myList = new ArrayLIst<>():
myList.add (new Cat ()] ;

Option A
Option B
Option C
Option D
Option E

moowp

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 61
Given:

puklic class TestScope |

public static wvoid main (String[] args) |
int warl = 200;
Svstem.out.print (deCalc{varl));
Bvstem.out.print (" "+varl);

i

static int deCale(int varl) |
varl = wvarl * 2;
return wvarl;



What is the result?

A. 400 200
B. 200 200
C. 400400
D. Compilation fails.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 62
Given:

puklic class MarkList |

int num;

puklic static void graceMarks (MarkList obj4)
objd.num += 10;

i

pukblic static wvoid main{String[] args) |
MarkList obkj]l = new MarkList () ;
MarkList ok]jZ2 obhil;
MarkList obj3 = null;
obi2.num = &0;
graceMarks (ob]2) ;

How many MarkList instances are created in memory at runtime?

A

A WON -~

B.
C.
D

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 63
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.
C. It can run on any platform that has the Java Runtime Environment.
D. It can run on any platform that has a Java compiler.



E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

Reference: http://www.math.uni-hamburg.de/doc/java/tutorial/getStarted/intro/definition.html

Explanation:

Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes
on any platform that has a Java compiler. The bytecodes can then be run on any implementation of the Java
VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

QUESTION 64
Given the code fragment:

public claszs Test |
public static veoild main(Stringl[] args) |

//line nl
switch (=)
cagse 1:
Syvstem.out.println("Ons") ;
break;
cage 2:
System.out.println("Two"™) ;
break;

}

Which three code fragments can be independently inserted at line nl to enable the code to print one?

A. Bytex=1;

B. shortx =1;

C. Stringx="1"

D. Longx =1;

E. Double x = 1;

F. Integer x = new Integer ("1");

Correct Answer: ABF
Section: (none)
Explanation

Explanation/Reference:

QUESTION 65
Given:



puklic class Triangle |
static double area;
int b = 2y ok =03
public ztatic vold main(8tring[] args) |

deuble p, by h: Filine nl
it ({area == 0) |
B = =3
h = 4;
p = 0.5;
'
area = p * b * h; //line nz

rr

System.out.println("Area is + area);

What is the result?

A. Areais 6.0
B. Areais 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:



